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AEC-01 : ENVIRONMENTAL CHEMISTRY

Time : 3 Hours Maximum Marks : 100

Note : (1) Attempt all questions.

(it) The marks for each question are given

against it.

1. (a) Complete any five of the following : 5x1=5

(i) A reaction in which a species loses an

electron is known as ............. .

(i1) The alkalinity of a water body helps in
protecting it from ............ change by

providing buffer action.

P.T.O.
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(iii) Density of ice is .......... than that of

water due to caged structure.

(iv) A substance which kills unwanted

plants is known as .............. .

(v) The number of moles of solute per litre

of solution is known as .............. .

(vi) ESR stands for ............ spectroscopy.
(b) Define any five of the following : 1x5=5

(i) Chemical oxygen demand

(1) Precipitation titration

(iii) Eutrophication

(iv) Salinity

(v) Turbidimeter

(vi) Fungicide
(c) Answer any five of the following : 2x5=10

(1) Name one disease each caused due to
high concentration of fluoride and

nitrate in water.
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(1) State the water quality factors which
spoil the aesthetics for its recreational

uses.

(i11) What are the properties of a good

adsorbent in chromatography ?

(iv) How does time affect the soil

formation ?

(v) Why are fungi more abundant in
coarse textured soil than in fine

textured soil ?

(vi) Write any two effects of acid rain.

2. Answer any four of the following : 4x5=20

(a)

(b)

Explain the implant procedure for the
treatment of effluents from a

petrochemical industry.

The conductivity of 0.20 M solution of KCI
at 25°C 1s 2.5 x 10-1 S em-1. Calculate its

molar conductivity.

P.T.O.
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(c) What are Pesticides ? How do pesticides
reach the soil ?

(d) What is chromatography ? Explain the
principle of thin layer charomatography.

(e) What are chemical fertilizers ? Why should
chemical fertilizers be supplemented by
organic manure ?

Answer any four of the following : 4x5=20

(a) What is Ozone layer depletion ? Explain

(b)

(©

(d)

(e)

the impact of ozone layer depletion on

global warming and air pollution.

Write the differences between Aerobic and

Anaerobic decomposition of sewage.

Explain briefly the adverse effects of
Suspended Particulate Matter (SPM) on
human health.

How are streams adversely affected
by the effluents from paper and pulp
industry ?

Name the principal plant nutrients
supplied by fertilizers. Give the chemical
form of each one used in chemical

fertilizers.
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4. Answer any four of the following : 4x5=20

(a) How does Topography affect the formation
of soil ?

(b) List any five methods of municipal waste
water treatment. Describe any one method.

(¢) Describe the 1importance of sewage
treatment before its disposal.

(d) What is rain water harvesting ? Write its
benefits.

(e) How are the dairy wastes classified on the

basis of their sources ?

5. Write short notes on any four of the following :

(a)
(b)

(c)

(d)
(e)

4x5=20
Crop rotation and its advantages

Methods for the determination of bacterial

count
Photochemical smog

Flame emmission spectroscopy

Potentiometry

P.T.O.
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